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you need:
•	15 counters
• paper clip	
• pencil

bin

Use 15 counters.

Spin the spinner and say the number.

Put a counter on any number which is a 	
multiple of the dice number. If you can’t,	
put the counter in the bin.

Go on until you have covered the grid, 	
or used up your counters.

Did you manage to cover the whole 
grid?

Grid A

4 2
42 6
66
18

33 14 18

Grid B

12 48
72 36
44
18

32 24 56
Use 15 counters again.

Do the same with this grid

Questions 
1) Which grid is it easier to cover?

2) Why is that?

3) Can you design a 3x3 grid that can be 
covered with a spinner showing numbers 
2, 3, 5 and 7?
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